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40° =90°, .. zx =10° .
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A}7+% AFDE £ BP0l 1, AF = FD o|22 AHZ3
AFDE & nj2Ro|t}.

ot vl Wle] Zol mE P},

=, A2k o] % jz4 o] 2
o|5H352 2 DE = AE = CF
whebA] 6x = 14-x, x = 2 |2, 6x = 3x+2y, 12 =642y, y =3
o|BZ x+y=50°|t}

.




20. TS 7o HaArEE ABCD oA AC //EF o] AAED 9] Ho]7}
20cm? ¥ o], AACF 9] Yo]=?

A D

E
O 16cm? @ 18cm? @ 20cm?
@ 22cm? ® 24cm?
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AABD ¢} ABCE °lA4]

/ADB = /BEC = 90°

AB = BC, /ABD = 90° - /EBC = /BCE
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® ABOC = ACDO @ /BAO = /DAO

®)aB - bC
B ~

AABO ¢} ACDO ¢4 ZABO = /CDO (97}
AB = CD (B3AHHF 2] tid)

/BAO = /DCO (%7})

. AABO = ACDO (ASA &%)

. AO=CO, OB=0D
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m : @: 3:20|282
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AP = 3PM |22 AABP = 3aPBM ©]t}.

.. AABM = 4APBM

T BM = CM©°]22 AABM = AACM ©]t}.

w2l AABC = 8APBM 0] B2 80 = 8APBM ©]tt,
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